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The ﬁlar'nent of a light has 3150 C of charge flow through it in 35 min. What is the
in the filamene?
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2. A load has a current of 88 mA flow through it. What quantit of.@@ flows
through the load in 51 s g~ ; ’
RS A x To\_oA_ - 0.058A
Q=T t=0.088Ax5ls=4.488C g
3. A heater has a current of 11 A flow t}:roug! it. How many will it take for

wgc to flow through the heater? 0 /‘(C X 1000 C = F0000c
L= Qo B0900C_ 934 17T 13| dataie
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4. How many are in a charge of 33 C? S
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23¢/% 6 35%10% € = 3 0625107 E—
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5. A student from a different universe calculates that 4.6 wC of charge is ,
3.1 X 10'3 electrons. What is theon an electron in that universe? b “f,éHC x |€
0.0000046C= | L $ 587 K0 Ch- 0%

3.1x10%e ) Bxi0-* Cle = 0, 0004
6. In a high voltage transmission Tine, 1. X 1022 electrons go past a tower in 25 s. |
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7. A load has a current of 12 mA flow through it. How manyﬂow through the

load in 35 s? g_\_' : ,
(D\W\A x ____L/}; = 0.0 A
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Q=Tt* 0.OWAD5s = 0. 430 x 6 55017,
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1.(a) What is theacross the resistor if the two cells e A
are each 1.5 V in Figure 12 >

1.5V L+ V.5V =(3.0N .;'[
(605 Ciryit) [ij : e

(b) Ifa current of 0.10 A is measured at point @, whatis  Figyre 1

thef the resistor? What is the ?

R=Z . 300 g Crgued @l bSO
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2.1f a roaster has a resistance of 220 {2, how much(currentwill it draw from a 110 V sevieS.
outlet?

o - N {0
1 =X = VWPV - iFAl
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3. A calculator runs on two 6.0 V dry cells connected in parallel. If the calculator draws

0.001 A, how many milliamps (mA) does it draw? What is the effectivcof

the calculator? .oV
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4. A resistor has a value of 100 €. If a current of 5 mA passes through it what is the
i)
- !;}) A
e \0 A i
V=TIR =0.005A x \00-L :(0.5\1)

5. A resistance has a voltage of 10 mV (millivolts) applied to it. The current through the
resistance is 0.5 mA. What is the Vatue of theesistance)) —# |0 mVx |V

‘v O
Q=" ;;o%—_’_\’osw\ JIA oo /
I o0.@os4 ’(RO‘Q—X oomA ~ 000054

bf the hair dryer?
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6. A hair drier uses a current of 10 A when plugged into a 120 V outlet. What is the
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